BOOK	NO				
Manin	ir State	Form	No.	V-I	

Page.

FIRST INFORMATION OF A COGNIZ CRIMER PORT UNDER SECTION 154 CRIMINAL PROCEDURE CODE AT POLICE STATION- Phougakchao Ikhai.

Sub-Division- Moirang

District- Bishnupur

FIR No. 3(1)2024 PGCI-PS, U/S- 436/34IPC

. CORRESPONDING FIR NO. 00(12)2023 IBG-PS U/S-436/34IPC

Date & Hours of occurrence-Date&time not mentioned

Date & hour when report	Place of occurrence & direction from Police Station	Date of dispatch from Police Station
On 11/01/2024 at 12:10 am	At the rented room of the dwelling house of one Shri Hemam Nabakusha Singh S/O H. Yaima Singh of Waikhurok village, P.O Moirang, Bishnupur District at @5 km south from p.s.	11/01/2024

N.B. A first information must be authenticated by the signature, mark of thumb impression of informant of information and attested by the signature of the officer recording it.

Name & residence of informant/ complt.	Name & residence of accused	Brief description of offence with section &of property carried off, if any	Steps taken regarding investigation, explanation of delay in recording information.	Remark
Leishangthem Budhi Meetei.owner /Propritor S/O L Pishak Meetei Bamon	Suspected unknown person.	Arson with common intentin	S.I KH. Premkumur Singh of PGCI-PS will investigate the case.	
kampu Mayai leikai,I/East 795008		Punishable		
		U/S- 436/34IPC		
OE/attached,				
OC/PGC1-PS Dt. 11/01/2024				

Officer-in-Charge Phougatchao Ikhai Police Station Bishnupur District, Maniput

Signature: Inspt. Subhaschandra Konthoujam

Designation: OC/PGCI-PS

Date: 07/01/2024 Officer-in-Charge Phougakchan Ikhai Police Station Bishnupur District, Manipur

Book No.

Manipur state form no.v.7

FIRST INFORMATION CONTINUE CONTINUE REPORT UNDER SECTION
154 CRIMINAL PROCEDURE CODE AT POLICE STATION: - Irilbung

Sub-Division:-Keirao Bitra

FIR NO.

00(12)2023 IBG-PS U/S

District: - Imphal-East

Page No.

Date & hour Date & time not of occurrence mentioned

Date and hour reported.	Place of occurrence &direction from police station	Date of dispatch from Police Station
22/12/2023 at 05:00 pm	At the rented room of the dwelling house of one Shri Hemam Nabakusha Singh, S/o. H. Yaima Singh of Waikhurok Village, P.O. Moirang, Bishnupur District, Manipur about 70 Kms (South West)	

N.B. - A first information must be authenticated by the signature, mark of them Impression of informants and attested by signature of the officer recording it.

Name & residence of informants/complaina nt	Name & Residence of accused	Brief description of offence with section and of property carried off, if any	Steps taken regarding investigation, explanations of delay in recording information	Result of the case
Leishangthem Budhi Meetei, Owner/ Proprietor S/o. L.Pishak Meitei Bamon Kampu Mayai Leikai, Imphal East 795008.	Some unknown person	Arson with common intention	The case is transferred to Phougakchao Ikhai P.S. as the P.O of the incident falls under Phougakchao Ikhai P.S.	
O.E. Attached		Punishable 436/34 IPC		

OC/IBG-PS 22/12/2023 Officer In-charge milbung Police Station mehal East District, Manapur

Signed:

Designation: Inspt. P. Poujeanlung

OC/IBG-PS 22/12/2023 Officer in-charge

trilbung Police Station mphal East District, Manupur This separate or to sected as an or of of case for the 10.3(1) sory photons US-436/34 IRE

Officer-in-Charge Phougakchan Ikhai Police Station

Rishnupur District, Manipur

22 12 2023 Dated/Imphal:

To

The Officer - in-Charge, Irilbung Police Station, Imphal East District.

Subject: Humble submission of Report for damaged of Stock items by the recent Violence in Manipur.

Sir,

With utmost respect, I the undersigned have the honour to submit my humble report for the following facts for damaging of stock items by the recent Violence occurred in the State of Manipur.

That, I have been a distributor of Fire Extinguisher to different places of Churchandpur and Bishnupur District for the last 3 (three) years in order to meet the requirements and demands of the needy persons of the same.

That, for the purpose of stocking the items as well office accommodation, I used a rented room of the dwelling house of Shri Hemam Nabakusha Singh, S/o. H.Yaima Singh of Waikhurok Village, P.O. Moirang, Bishnupur District, Manipur. The particulars of Stock items and office furniture are also enclosed herewith for your kind ready references.

That, unluckily, while I was visited the same place recently, on the 18th December, 2023 the stocked items such as Fire Extinguishers, refill materials, accessories, machines and office items like furniture, Stationery and other office documents which were kept have been found caught fire and nothing has been left except ashes by the recent violence occurred in the State. At that moment I was very socked and demoralised. In security point of view, I was unable to visit same place to see the condition of the office and the stock items at the early days due to violence.

That, In the light of above facts and circumstances, I am therefore submitting my humble report of genuineness for the damaged items for favour your kind observation and taking further necessary action from the ends of your kind justice.

Encl: As stated (List of Stock items).

This report is treated as an OE of the case FIRNO 00(12) 13A-75 U/3 436/34 1PC

OC 136 PS 22/12/2023 Ulicer III-charge Inilbung Police Station Inibhal East District, Manipus Yours faithfully,

L. Budli Meeter

(Leishangthem Budhi Mectei)

(Owner/Proprietor) S/o, L.Pishak Meitei

Bamon Kampu Mayai Leikai, Imphal East-795008.

8119046868

Details of Stock items and office materials:

Sl.No.	Name of Stock items	Quantity (Nos.)	Cost of items (Rate in Rs.)	Total Amt.(In Rs
1.	Mobile Fire Extinguisher Refilling Machine, PFF-II/E	1	245000	245000
2.	Nitrogen Gas Cylinder for Industrial.	30 Kgs	30000	90000
3.	CO2 Gas Cylinder for Industrial,	30 Kgs.	40000	120000
4.	Mono Ammonium Phosphate Powder,	32 bags.	2400	76800
5.	Fire Extinguisher Pressure Test Machine(Hydraulic Testing Machine)	- 1	8000	8000
6.	Dry Powder Store Type Multipurpose ABC fire Extinguisher, 4 Kg.	87	3000	261000
7.	Dry Powder Store Type Multipurpose ABC fire Extinguisher, 2 Kg.	15	2000	30000
8.	Office Almirah(Iron)	1	5000	5000
9.	Working Table	2	4500	9000
10.	Staff Table	1	3000	3000
11.	Tools and equipment (Vice- Sylirange, Pipe range, Panna etc)			5300
12.	Revolving Chair	1	3500	3500
13.	Plastic Chair	4	250	1000
14.	Bench	2	1000	2000
15.	Ceiling Fan	1	1250	1250
16.	CO2 Fire Extinguisher, 4 Kg.	4	4500	18000
17.	CO2 Fire Extinguisher, 2 Kg.	6	3200	19200
18.	Office stationery items lie Receipt Book, Record Book etc.		2500	2500
			Total	Rs. 9,00,550/-

(Rupees Nine lakhs five hundred and fifty) only.